

$$\frac{P_t}{P_{t-1}} = (1+r_t) \frac{(1+i_{t-1})B_{t-1}}{P_t} = \frac{(1+i_{t-1})b_{t-1}}{1+r_t}$$

$$\text{Max } \sum_{t=0}^{\infty} \beta^t U(c_t, m_t)$$

s.t.

$$\omega_t = f\left(\frac{k_{t-1}}{1+n}\right) + r_t + \left(\frac{1-\delta}{1+n}\right)k_{t-1} + \frac{(1+i_{t-1})b_{t-1} + m_{t-1}}{(1+r_t)(1+n)}$$

$$= c_t + k_t + m_t + b_t$$

$$\mathcal{L} = \sum_{t=0}^{\infty} E_t \beta^t \left\{ U(c_t, m_t) + \lambda_t \left[ f\left(\frac{k_{t-1}}{1+n}\right) + r_t + \left(\frac{1-\delta}{1+n}\right)k_{t-1} + \frac{(1+i_{t-1})b_{t-1} + m_{t-1}}{(1+r_t)(1+n)} - c_t - k_t - m_t - b_t \right] \right\}$$

$$\frac{\partial \mathcal{L}}{\partial c_t} = U'_c(c_t, m_t) - \lambda_t = 0 \quad (1)$$

$$\frac{\partial \mathcal{L}}{\partial m_t} = U'_m(c_t, m_t) - \lambda_t + \beta E_t \frac{\lambda_{t+1}}{(1+r_{t+1})(1+n)} = 0 \quad (2)$$

$$\frac{\partial \mathcal{L}}{\partial b_t} = -\lambda_t + \beta E_t \frac{\lambda_{t+1}(1+i_t)}{(1+r_{t+1})(1+n)} = 0 \quad (3)$$

$$\frac{\partial \mathcal{L}}{\partial k_t} = -\lambda_t + \frac{\beta}{1+n} E_t \lambda_{t+1} \left[ f'\left(\frac{k_t}{1+n}\right) + (1-\delta) \right] = 0 \quad (4)$$

$\lim_{t \rightarrow \infty} \beta^t \lambda_t x_t = 0$  for  $x = k, b, m$

Transversality Condition

$$\frac{\partial \mathcal{L}}{\partial \lambda_t} = 0 \quad (5)$$

(1), (2), (3)  $\rightarrow$   $\lambda_t$  condition

(1), (3), (4)

(1), (3), (4)  $\rightarrow$   $\lambda_t$  condition

$$\textcircled{3} \quad \lambda_t = \beta E_t \frac{\lambda_{t+1} (1+i_t)}{(1+\pi_{t+1})(1+n)}$$

$$\beta E_t \frac{\lambda_{t+1}}{(1+\pi_{t+1})(1+n)} = \frac{\lambda_t}{1+i_t}$$

$$\textcircled{2} \quad u'_m(c_t, m_t) = \lambda_t - \beta E_t \frac{\lambda_{t+1}}{(1+\pi_{t+1})(1+n)}$$

$$\textcircled{3}, \textcircled{2} \Rightarrow u'_m(c_t, m_t) = \lambda_t - \frac{\lambda_t}{1+i_t} = \left( \frac{i_t}{1+i_t} \right) \lambda_t$$

$$\textcircled{1}, \textcircled{2}, \textcircled{3} \Rightarrow \frac{u'_m(c_t, m_t)}{u'_c(c_t, m_t)} = \frac{i_t}{1+i_t}$$

$$\textcircled{1}, \textcircled{3} \Rightarrow u'_c(c_t, m_t) = \beta E_t \frac{(1+i_t) u'_c(c_{t+1}, m_{t+1})}{(1+\pi_{t+1})(1+n)}$$

$$\textcircled{1}, \textcircled{4} \Rightarrow u'_c(c_t, m_t) = \frac{\beta}{1+n} E_t u'_c(c_{t+1}, m_{t+1}) \left[ f' \left( \frac{k_t}{1+n} \right) + (1-\delta) \right]$$

$$\textcircled{1}, \textcircled{3}, \textcircled{4} \Rightarrow E_t \frac{1+i_t}{1+\pi_{t+1}} = \left[ \underbrace{f' \left( \frac{k_t}{1+n} \right)}_{\substack{\text{مردود} \\ \text{درد}}}} + (1-\delta) \right]$$